i (600 AtI42l) Abgiaol 8 1 (610 Fe2ol) Feisol

Mg : (611 AlBR49) ABE4O S :(01) HE8 CEREES

o = HE e |
2 -8 - NE - = nes lagaew | 5 0F

gt Al 16,754,742 14,212,007 2,542,735

600 At 8,702,297 9,358,082 AB55,785

610 I+ 722,300 564,957 157,343

611 AtEERZo 682,100 549,957 132,143

01 JIEE 349,250 293,865 55,385
OJEE 180& x4,3208 x37E x 12& = 345,254
OMEE A4l 180& x 1008 x37E x6& = 3,996

03 et 319,410 246,012 73,398
ogets 2102 x 2,510 x50&E x 128 = 316,260
ogE MFEX 2102 x 507 x 50E x 68 = 3,150

05 &I H= 13,440 10,080 3,360
oxdEs 1603 x 20& x 350& x 128 = 13,440

661 JIEtEZ =< 40,200 15,000 25,200

02 JIEANBES 40,200 15,000 25,200
oRaH Hel 242 1,5002 x 10,000 = 15,000
OAZXS X A 29 35,0008 x 60 x 122 = 25,200

670 el 7,979,997 | 8,793,125|  A813,128

671 Ol Xt==< 80,000 50,000 30,000

01 GIS0IXt=% 80,000 50,000 30,000
CIENPES 80,000,000 = 80,000

672 El AN LS+ 7,899,997 8,743,125 A 843,128

01 LEgAAL S 5,696,405 6,741,967 A 1,045,562
CETILR 5,696,405
Oodt==ZtHBTLAIY &z K= 1,978,000
2) 1,978,000,0002 = 1,978,000
OYusEY 2 3,718,405,0002 = 3,718,405




B (600 AP40l) AtRI4ol 8 (670 Fol4ol) Yeiolaol
Mg : (672 ErSINEUI49) EISIHEYS 49 S (02) EISEIANNYS (cgl : &)
gr 3 - N 2 wee | Goa |3 3
02 ErSEIAYI 2,203,592 | 2,001,158 202,434
O+EMLBIHHYB(IZ) 2,203,592
OBt BILAIY T2 538,000,0002! = 538,000
O8N (514,25 S) 123 400,000,008 = 400,000
OAIZAE 29 D129 1,265,502,0002 = 1,265,592
100 K24l 8,052,445 | 4,853,925 | 3,198,520
170 H2Yoiz4+Y 8,052,445 | 4,853,925 | 3,198,520
173 EladAER T34 7,750,445 | 4,553,925 | 3,198,520
02 ElEHALBEZ4Y 7,752,445 | 4,553,925 | 3,198,520
OYLrE|HFY 2 5, 145,860
ONFS ot+H2lPY o422 Tl AY 838,000
=) 838,000,0002! = 888,000
ODM. A& 5t4+22 FHIAY 1,771,000
2) 1,271,000,0008 = 1,271,000
) 500,000,0002! = 500,000
OYE L322 FYAY 2,455,000
2) 2,455,000,0008 = 2,455,000
O2R2oH+H2IE SU(T-PINZAIE &X 31,860
) 31,860,0008! = 31,860
OYErE|H T2 1,044,585,0008 = 1,944,585
OFEMASHIN HYZ(DI2) 662,000
ONFES ot+H2lPY o422 FHIAIY
338,000,0002! = 338,000
OIM. A& Gt+22 FHIAMY 62,000,0008! = 62,000
OYE LSE JHAY 262,000,000 = 262,000




ol
no
uli
[

H0

At

: (09) JIE

M0

(@) (@]
A0
Klo
S| 8
H3r| o |
o o o
ma| S| S
RI=
o ()
(e} o
|| <=
o ()
2| 8|8
=
o
[}
<
()
o
o
I
A
o
X
o
()
o
<
8
0 | oir S
()
($p)
00
=
00
= | A _
ol
il
ol 70 g
pl IR =
mil < a
0o Ho o
Flo
< |~ <
Ho )
e |8 ©




